
Révision du module 1 Révision jusqu'au module 1

2  + 9  = 11 8  + 8  + 5  = 21
92  + 9  = 101 26  - 21  = 5
74  + 1  = 75 30  + 70  = 100

20  + 30  = 50 9  + 9  + 1  = 19
7  + 9  = 16 30  + 10  = 40

56  + 6  = 62 6  + 9  = 15

30  + 10  = 40 30  + 70  = 100
80  + 60  = 140 3  + 1  + 3  = 7

3  + 1  + 3  = 7 20  + 30  = 50

80  + 60  = 140 95  + 6  = 101
41  + 1  = 42 74  + 1  = 75
56  + 6  = 62 8  + 8  + 5  = 21

74  + 1  = 75 5  + 6  + 9  = 20
80  + 60  = 140 21  + 7  = 28
90  + 60  = 150 6  + 9  = 15

6  + 9  = 15 95  + 6  = 101
6  + 9  = 15 80  + 60  = 140

©Magnard ©Magnard

7  + 9  = 16 7  + 9  = 16
6  + 9  = 15 7  + 9  = 16

Avant évaluation Après évaluation


